TUAS

avs)

AR B (3R AT H)
o|=- =R B
9.86 9.871 0.686 7.212 8.932
X 8 X 5 X 6 X 4 X 7
2.805 2.096 8.66 2.409 9.358
X 2 X 6 X 3 X 8 X 5
1.246 6.246 0.771 7.355 0.906
X 4 X 9 X 3 X 3 X 9
2.763 5.988 7.716 4.642 6.51
X 5 X 4 X 5 X 9 X 2
3.745 0.934 7.321 8.606 6.778
X 2 X 9 X 2 X 4 X 6
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MY = (3R W E H)

o|=- SR =
9.86 9.871 0.686 7.212 8.932
X 8 X 5 X 6 X 4 X 7
78.88 49,355 4116 28.848 62.524
2.805 2.096 8.66 2.409 9.358
X 2 X 6 X 3 X 8 X 5
5.61 12.576 25.98 19.272 46.79
1.246 6.246 0.771 7.355 0.906
X 4 X 9 X 3 X 3 X 9
4,984 56.214 2.313 22.065 8.154

2.763 5.988 7.716 4.642 6.51

X 5 X 4 X 5 X 9 X 2

13.815 23.952 38.58 41.778 13.02
3.745 0.934 7.321 8.606 6.778
X 2 X 9 X 2 X 4 X 6
7.49 8.406 14.642 34.424 40.668
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